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REVIEW

Determine the length of the hypotenuse of each 45°-45°-90° triangle.
Write your answer as a radical in simplest form.
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Determine the lengths of the legs of each 45°-45°-90° triangle. Write your answer as a radical in
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The 30°-60°-90° Triangle Theorem states: “the length of the hypotenuse in a 30°-60°-20
triangle is two times the length of the shorter leg, and the length of the longer leg is 3 times

the length of the shorter leg.”

8. Use the Pythagorean Theorem to demonstrate the 30°-60°-90° Triangle Theorem.
Let x represent the length of the shortest leg.
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Given the length of the short leg of a 30°-60°-90° triangle, determine the lengths of the long leg and the
hypotenuse. Write your answers as radicals in simplest form.

e 25010

b= 5 s-a
Given the length of the hypotenuse of a 30°-60°-90° triangle, determine the lengths of the two legs. Write
your answers as radicals in simplest form.
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Given the length of the long side of a 30°-60°-90° triangle, determine the lengths of the short leg and th
hypotenuse. Write your answers as radicals in simplest form.
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